Ready-to-progress assessment
Write an equation to represent this story.
First I had 6 balloons. Then 2 floated away. Now I have 4 balloons.
[image: ]




Write an equation to represent this story.
There are 2 apples. There are 3 oranges. Altogether there are 5 pieces of fruit.

[image: ]


Which equation matches the picture? Can you explain your choice?
[image: 3 bananas 4 apples ]


	3 + 3 = 6		8 = 4 + 3		4 = 3 + 1		4 + 3 = 7


Holly looks at this picture. She writes . Explain how Holly’s equation represents the picture.
[image: 3 sets of cups, labelled 'First' 'Then' 'Now' respectively The first set contains 4 cups The second set contains 3 whole cups and 1 broken cup, slightly removed from the set The third set contains 3 cups ]
																																																												

Write an equation to represent this picture. Explain how your equation matches the picture.
[image: 6 pencils 4 in a pot 2 outside of the pot]
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